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Quiz Chapter 2 Form A Circle Class Sectloanlme T 12:30 (10 14, 100,14
- 1 pomt deduct/on if you do not c.vrc/e c/ass time™—

1. The Supermtendent of an elementary school dlstrlct was 1nvest1gatmg the number of students per class.

She collected data for- o sa of 20 classes from the district’s schools.
The data a{e‘f‘m}lmanzad in %le below _
X = number of Frequency Relative | Cumulative Relative :
studentsinthe | =number Frequency Frequency | Vaur stads Lt g
- class . of classes - ' . o
15 o2 B 0.1 0.1 | vorstols
24 5 025 | 035 ° '
25 4 0.2 055] Khist L
27 1 0.05 | ‘ 06| Sveq L2
29 5 0.25 0.85
30 2 0.1 | 0.95
34 1 0.05| 1

Ca 4.pdints] Find the IQR, mean, énd appropriate standard deviation for this data.
'Round mean and standard deviation to 2 decimal places ( _._ _ hundredths).
Incorrect rounding may be interpreted as an-incorrect answer and may lose pomts :

IQR = 5 R Mean = Q 5.8 = % i : Approprlate Standard Dev1at10n = H.03=9
C&a-Q=39-24
b.[2 pomts] Find the class size that is the 20th percentile : Q‘L( students per class.

ot \twe_tn%{-olo\a_ Lowuu_we_ PSS (30 comatioe td Gﬁ? Qo(uwv\

c. [2 pomts] The 80™ percentlle is a class size of 29 students. Write the two complete sentences that
interpret the meaning of the g percentile in the context of this problem.

0% o€ ‘Wi closses had 3% o feurr students
20% of ‘Ko classes had 394 or wore students

d. [ 4 points] Are there any outliers? You must show correct work for creditin
pan‘d ~ ho correct work earns no credit,

State your conclusion identifying what are the class sizes partd- Sct v
for all outliers or stating that there are no outliers. even if conclusion is correct.
Show work to justify your answer. S

TARR= Qd-Q(=39-34=5

Lower Fewce: QU-1.STAR = 24 - \.5L5§~\6;5
Oppen ‘\“-e,er\ca, Q>+ (S ITOR-= 29 + .98 =30

T(A_L+u.>o classes L,o“\—Q\ (5 students are oOH(Q«G
Thos Gre not Leswoeen “Lo Cences.
A oo deade valoes are wt“’rez\m%&@u\ces

- Turn page over for questions 2 and 3 ( 8 points total)
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2. [4 pomts] +

Lin, Maria, and Nina have entered bicycle races. The races for each age group are different lengths
Lin is 7 years old. Maria is 10 years old. Nina is 12 years old.

‘We want to compare who (Lm Marla or Nma) does best in her own race, compared relative to the other
children in their same age group. '

Time for all participants | Time for this child participating in the race.
in age group ' ,
Age | Average Time | Standard Child in race | Time in minutes this person
Group (mean) | Deviation ‘ took to complete the race
Age 7 5 minutes 1 Lin 4.3
Age 10 14 minutes 2 . Maria 11
Age 12 11 minutes 3 Nina , 8

b S Recall that when racing, the best times are shorter times which are faster.
Whose racing time is the best compared relative to the other children in the same race for their age group?

State your conclusion and show your wOrk to justify your answer.

You must show correct Work for credit — no correct work earns no ored/t even if conclusion is correct

Show all calcu/at/ons accurate to two decimal places. . v
Show work below: , ) . '
elo ‘ ofhons
Lin 2:42-5), .1 . She s more standand dent
o ‘ | | below an YWan L ov Nina.
SMoneo %:%@:4\.5 (% (n a_voce. \ower timed are

Nwa 2= 8&-tD_ _, shovten, @aé@) so c»mbe,\-l@*}
_ Bl

3. [ 4 points] Two science classes took midterm exams that were graded out of a maximum of 100 points.

: Minimum Maximum | Mean | Standard Deviation | Number of Students
Astronomy Exam 55 9% 77 8 : 37 '
| Biology Exam - 57 97 81 | 6 41

x

a. Using the most appropriate measure of variation in data, which class exhibits more variation in the grades?

B. Biology C. Both the same D. Not enough information to determine

ANSWER: A (stondond deviation ts \r\—'-gm)

b. For the astronomy class, find the value that is 1.4 standard deviations below the mean.
Show Work Round to one decimal place (tenths)

—H—L-l.l-\\(‘ég "(_l'"‘llua" 5.3




